Name N £ Date . Class

SKILL 1: Practice

=

Think about where each integer is located on the number line.
Tell whether the integer is positive, negative, or neither.

| } 1
] ] 1 ¥ 1 I 1 | I 1

g

1. —6 JlesetHoe. 5, —10 /2% 3. 80 [T

4.8 _ 207> 5. —37 {1 6. —100 _/1EA

f o
7o JAls 8. 43 __j:t 9. 250 /D%
10, —2t (e 9.0 _fdegdied 12. 1,000 x50
,'"‘lf i|

Write the opposite of each integer.

£

) - . i . ‘;x}
18. 18 748 14, 0 __ L 15. 160 Jei

s 73 | Yo
16. —25 > 17, —48 1 & 18. -83 __ >~

: O i
10. —16 _L_ o0, —2 7 21. 78 _E_

bom
g i ~
!
i

z L s
a0 5 __ 0 23, 11 _—F 24, —1425 /T

Write the integer that best describes each situation.

' - -3 {7
25, 35 ft below sealevel __ .7 ) 26. 78°F above zero _;_

27. A gain of $60 _2E 28. A debt of $20 __=C
29, B-yard loss T 30. $80 profit _Ne

Ty -

IR v

31. 3 seconds before lift-off ____ - 32. 7 steps backward ,_wﬁ_

33. Which integer is the opposite 34. Which integer is neither

of —127 positive nor negative?
- Skl 1 ' Skifl 7

A —21 (G2 F -1 H 1
B —12 D 21 {60 J 10

2 Pre-Algebra Basics Sectlon A: Integers
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SKILL 2: Practice | € ¢ _
Find each absolute value, '
; {r} . , s : >,
1. [10] = Lt 2. |-29| = 7 8. |-13] = __"
77 e | R
4, |o2| = i 5. |86 = 6. |-56] = _Lb
l_:-a{:_i I

8. |80] =

oy b
10. |21] = j 11, |—48] = 1%

14, |-31| = Y

F— P

17, |-17) = 1

20.

N
bl
—
o
N
.
[
ek,
——
~£
L
i

21, 32

23, 20

27. 96

29. 84

Solve.

31. Elevations above sea level are represented
by positive numbers. Elevations below sea level
are represented by negative numbers. What
" two elevations have an absolute value of 1,000 ft?

32. Find |-11].
Skill 2
F 63

A —11 1 F
11 (G886

B —1

4 Pre-Algebra Basics

33. What is the opposite of —367

- Skl 1
HO
J —B3

Section A: integers
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Name / _' R ; Date Class

SKILL 3: Practice

Jse >, <, or = to compare the numbers.

1. -6 ). -5 2.1(D) -4 3. 12 (3) —20
4.8 (D15 | 5. -8 () —12 6. ~30 () 0
7. —20 () 13 8. —16 (1) 16 9. 18 () |-18]
10. 40 () —100 11. —50 () 45 12,6 -36 .
13. 0 () —32 w77 15. |-3] ©) |-8| o
. 17| (D17 17. |-17] &) 17 18. —74 (1) 60

Orcler each set of integers from least to greatest. -
19, —9, 4,0 20. ~7, -8, —4 ;
21. -3,2,6, —10 22, 10, —20, 30, —30 [
I, A s TR0~ fe, 30 % )

— B e ) :

- 28. -5,17,—19,6 24. 3, -3,10, —10 5
T s e T ' ~, -3, 3, SO

/ B 7 T B k

Solve. :

25. The low temperature on Monday was 5°F, the low
temperature on Tuesday was —5°F, and the low

temperature on Wednesday was —1°F On which L f’ o
day did the lowest temperature occur? [ Lt }1
==

E SEST0REp

26. Which list shows the integers 27. Find |28]. - ;
—3, —4, and 2 In order from S Skl 2 g
least to greatest? F —28 (H:/ 28 z
\A —4, -3, 2 C 2 -3 -4 -
B —3,-4,2 D2 -4 -3 %

&6 Pre-Algebra Baslcs Section A: Integers
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Name Lo~ Date Class

SRCILE 4: Pra;tice

Use the number line to find each sum.

[ 1 | | ! i 1 i
- 3 1 ] | ] T 1 i

I ] 1
i 1 ; 1
-0 -8 8 -7 -6 -6 ~4 -3 2 - o 1 2 3 4 585 6 7 8 8 10

1. 2+7=_" 2, 3+ (—5) = ot 5.5+8=_ 0
_ f A -~
4.7 +(-8)=__ 5.8+ (-8 =_+t 6. B3+ (-2)=__=
N -7 | 9
7. ~4+9=_") 8.2+ (-9 =_"1 9. 3+ (—1)= = .
57 : < -3
10, =6 + (=2) = 1. 4 +5= f 12, 8+5=___
_ Iy .y _
18. 7+3=_IL 14, —3+2=_"_ 15. 54+ (—4)= ¢ 3
7
Add the integers. _ oo
SN - L' . =\ ﬂ};__ N
i6. —T +12=__~ i7. 35+ (-1)=_2 18. —10+ {(—12)= 7T~
|| iy
19. 6+ (5 =_1t  20.0+(-6=__¢  2.50+(-2=_"" j
_ﬂ_] Y ____’ih"] —_ i"
214 (-7)=_"% 2815+ (=15 =_- 24, 2+ (-9 = __ 1 L)
- Ry s N by
95. 31 +3=_ "1 26 4+(~12) = 27, 93+ 8= _12 i
i e g , _1 %
28. 10 + (—15) = D 20, 42 + 16 = __2 " 30. -1 +{-4) = ___l L
Solve.
. g
31. The temperature in Middlefield at 6 a.m. was —15°R B
By 3 pM., the temperature had risen 19°F. What was L‘{_f- [\’ :
the temperature at 3 pm.? ' 1
32, A diver was 7 m below the surface of the water. _ , 1
The diver then descended 3 m. What integer iy S
reprasents the diver's position affer the descent? i ':.
e d ;
3 i
33. Find —12 + 8. , : 34. Which number is less than —12? o :
Skill 4 Skill 3 @
A —20 C 4 \F —14 H -3 "
(B —4 D 20 G -1 J 4
8 Pra-Algebra Basics Section A: Integers
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Name Lot Date Class

SICILL 5: Practice

Write an addition for each subtraction. Then show the
subtraction result. : . i
1. 10 — 14 . 2.-3-11 . 8. -8-(-8) .
Addition: iU +A) addition: ~20 1Y Addition: 0 T
J{ i -7 R
So,10-14=_~"1T _,  So,-3-11=_L 1 | So, —8 ~ (—6)= A, A
4.50-(-9) , . . 5 —15-38 . .. 6.20-55 , _
A e T I L gy ;
Addition: _ G A _ Addition: [~ (,6 * Addition: _=" [_ "L) -
S0,50 — (9= =0, 8o, ~15-8=_"2N S0,20 ~55=__0"
. Subtract. |
7. —1 = (—15) 4 8 20-3_11 9. 11 —(~5) Il
.1: = ' ‘-..3 »:‘) ;
10.20—2 1% 1. 12— (—19) _L 12, =2 — (—=4) 7
13. 7 —13 —\z 14, 3-5 15. ~6~11_ "/ /
— ~— ' o,
T | 17.0— (-7 __/ 18, —4 —(—1) 22 @
4 L2 . J
18,5 —(=3)__ " 20, -9 -25 .-:‘“sj 21, —18— 10 20 ~ :
T < K= :
22. ~11~(-8 "2 23 —16-9 7 24. 10— (~9) L7 |
v | — el |
25, —25 —(—40) _1D 26, —48-—0_ 1% 27. —8—7_T( >

Solve.

28. The elevation of New Orleans, Louisiana, is 8 feet below
sed level. The elevation of Lake Champlain, Vermont, |
is 95 feet above sea ievel. How much higher is the ~. 3"3>_ ‘f”
elevaiion of Lake Champlain than New Orleans? fC 70

29. In Fairbanks, Alaska, a typical January temperature
is —13°F and a typical April temperature is 30°E What - if s /
is the difference between these temperatures? T

@ B Prantice-Hall, Ine.

30. Find2 — 9. 31. Find ~2 + 8.
. Skilf 5 Skill 4
A 11 (¢ -7 F 10 H —6
B 7 D —11 @6 J =10
10 Pre-Aigebra Basics Section A: Integers
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SKILL &: Practice

Tell whether the product is positive, negative, or 0. Then multiply.
1. —2-10 2. -8-(—-9 3. 7-15
he, pe P

o = U ~8 - (—9) = 73 715 = >
4.0 (-23) B, —42-3 6. —12 - (—15)
T £y A o ey
. el fre e
F i,.-f‘}

0-(—23) =

Multiply.
7. 2-4=

2 iv T
10. =1+ (-18)= L2 11, 2-(-9 = Tk 12.5-19=_75

i Ly ~iy
18. —3:(—-6)=_11" 4. 7 -{—4) =__5 i5. =811 =

—~17) TR T
16. —6-20 = f;l(’, 17. -3 {(—12) = ks 18. —4-5 = Al

19' - = 5 f 20. 6 . (_10) = ;";‘_‘:—i‘ 21- -0t (_15) = !f!";;'éﬁ s :

. i -0
22, —20+ (=5 ={YL o3 gi(—ag) = =2

25, ~7 - (—=13) = ‘U 26. 14 - (—5) = “75“ 87.25.3=_/5

28.9-(—30)= A Jt)  p9. —2p.(-30)= &0 a0, 0. (—18)=_()

Solve.

31. There was a temperature change of —2°F each )
hour over a period of & hours. In all, what was the - //““
temperature change over the 5-hour period? L

32. The price of a share of stock increased $3 each week
over a 7-week period. What was the total change in the 7y
price of a share of the stock over this period of time? i f

33, Find —5 - 3. 34. Find —8 + 20.
Skifl 6 7 Skill 4

@.’—15 C 2 F —28 (H/12
—2 D 15 G —12 J 28

! F% & Prentice-Hall, Inc.
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Name ANE A Lare LIass
i B

SECELEL 7: Practice

all whether the quotient is positive, negative, or 0. Then divide. @
"1, 72 =+ (—8) 2. —45+(-9) - 3.3+5
fein SRS e
5 ' £ 0 ;
72+ (~8)= | - 45+ (~9) = 5+5=_ 1
4, 0+ 2 5. —42 7 6. —36 + (—6)
ik L pre
0+2=_U 4P 7= T —36 + (—6) = __ &'
Divide.
’—} b E;.l - 1‘}
7. 8+ (-4)= __= 8. -20+4=__ — 8. 6=+2= o
Lf . —i
10, —12 +3= "1 H, 5+5= - 12, 18 +3=__%
7 I 5
15, —45 + (-5} = _1 14 -4+ (1) = 5. —48 + 6 =
16. =6 = (-2) = _/ 17. 0+ (=5) = __ U 18, 12 + (—6) = A
19.56 8= _1 20, —35 + (~7) = , 21, 48 + (—8) = < Q)
Ne = =7
22, 72 + (—8) = _ i 23, —45 = (-9) = _~ 24, 35 +5=__/
e {f "_;’-' al . ] .
25 —42+7=__"  sg0+2=_U 97. —36 + (~6) = ¥
s ) »
98,18 = (=2)= __{_ 20, —20 = (—pQ) = _! 30, 0+ (—16) = _ &
Solve.
31. The total change in the price of a sharé of stock over a . e
5-day period was —$15. If the price went down by the same —r A

amount each day, what was the change in price each day?

32. Mario’s weight increased by 18 pounds over 3 years. If the

increase was the same each year, how much weight did L {
Mario gain each year? £

@z ® Prentice-Hall, Ina.

33. Find 84 + (-8). 34. Find 6 — (—10).
: Skilt 7 Skill &
A —8 - G686 F —16 H 4
B ~6 (D;8 G —4 (Jd,16

14 Pre-Algebra Baslcs Section A: Integers
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SKILL 8: Practice * '~ |

el

Use integers to solve each problem. .

1. In January, Doreen’s bank balance decreased by $50. oy
In February, her balance increased by $30. What was i Y
the total change in her balance? ' ~( . J‘s
2. Mr. Schutliz wanted to write a check for $85. He Ey
noticed that he had only $80 in his checking account. Do
What integer shows what Mr. Schuliz's checking account — it L) E

balance would have been if he had written the check?

e
s

3. In golf, a score of 0 is called.even par. One over par is .
represented by +1 and one under par is représented - _ o
by —1. In a golf competition, a player had scores of g N - N
+2, +1, -2, and 0. What was the player's total score? T L OeEr A

/
4. Maria’s score changes in a video game were +80, rl 2 ,J'}
—80, and +40. What was the total change? A

5. The price of a share of stock dropped $35 over a R
b-day period. The change in price was the same on - ﬁ(“ “7 i
each of the 5 days. What was the change in price each day? i

= pidn it 1,

6. On a test, the teacher gave +10 points for each correct )
answer, 0 poinis for a skipped question, and —5 points- @;
for each incorrect answer. There were 10 questions on P
the test. Alex had 8 correct answers and 2 incorrect kK 7 ‘
answers. What score did Alex get?

T
"
LTn i

Rl e T

7. A mountain climber reached the top of a mountain .
that was 10,000 ft above sea level. After descending R .
- 3,400 ft, he rested for an hour. What was the level at L p (L (b
which he rested? /

8. [n a science experiment, the temperature of a liquid
dropped 30° over 6 hours. What integer shows s i
. the average hourly temperature change of - ) .
the liguid? . e ©d

ity

¢ i

5 i

9. The temperature in Bensonville 10. Find —48 -+ (—6). E il
dropped 3°F each hour for 4 hours. Sill 7 |5
What was the total temperature F.8 H -8 i
change over the 4-hour period? ‘a8 J —g
Skill 8 e @ o

( A) —12°F C 7°F i
"B -7°F D 12°F 3
16 Pre-Algebra Baslcs Section A: Integers .cf_
- 4

T

"
1=

R R M IR TSI S L L U T R D N T s R e R R T fﬁw




L@ @ Prentlca-Hall, Ine.

\iano

GCircle each correct answer.

1. What integer is the opposite of 147

Skill 1

A —4 Co
P
(B) —14 D 41

2. Which list shows the integers —3,
7, —4, and —9 in order from least to

greatest?
e Skill 3
(F/-9, —4,-3,7
G —3,—4,-9,7
H 9,7, 4, —3
£ -3 —-4,7, -8
3. Add: 7 + (—4).
- Skill 4
A -1 (c3 -
B -3 D 11
4, What is the value of | —8|?
e Skill 2
{F/8 H 0
e
G 4 J —8

5. The temperature at 6 A.m. was
—14°F By 10 A.m. the temperature
had increased 5°F What was the

iemperature at 10 am.7? -
Skill 8

A 19°F G -8°F

B 9°F (D, /—9°F

6. Muitiply: —8 X 8.

' Skilf 6

F 72 H =17

G 17 (J) -72

Sectlion A: Integers

7. Divide: —100 + (—5).

(c 20

b 25

Skiti 7
A 25
B —-20

B. Write the subtraciion problem
—5 — {—8) as an addition problem.

Skill 5
F5+8 H —5- |-8]
(G-5+8 J 5+ (-8
9. Add: —8 + (—8).
e Sttt 4
(A/—14 G 2
B -2 D 14
10. Subtract: —5 — (—3).
Sfdil 5
F 2 H 8
R
i G2 J -8
11. What is the value of |20]?
_ Skill 2
A —40 9 0
B —20 ['D.20
12. Divide —48 + 6.
Skill 7
F -9 H 8
G —8 J 9
13. Subtract; 4 — {—4).
Skilf 5
A0 c -8
/B8 D 4

Pre-Algebra Basics 17
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% Mixed Beview for Section A &

Whék did the algebra teacher say when asked what she
thought about negative numbers?

To find out, locate the answer to each exercise in the code. Write
the letter for the exercise in the blank above the exercise number.
Cne letler in the code is not used.

1. négative Integer with, 2. positive integer 3. opposite
e ‘i o
absolute value 7 ! lessthan2 __ [ of -3 _J
. ‘:1! . . . : l’(-
4 B4 (—d)=_ | 5. |6 = _ L 6. —6.-3=_"78

Lt

- C
7. 5-7= Hj B.5~7=_" = 9. 63+7=_1 %
10. —30+5=;£€i_ 1. =B (1) =__J 12, —4 - ()= ~/

13. 10| = U 14, B+ (~11) = = 2 15. 9+ (-7) = =l

I  f .
16. —49 + (—7) = 7 17. 5 + (—9) = —~ 18. |—12] = L=k
~7 —7 /¢
19. 56 + (=7) = D 20. —27 +3 = 21. 70 + (—80) = __ /¢

.
.

i PR BT T e n gt g ST B

Hid

S

L
Qo
o
I
@
—
!
il
j==]
dw]
[ou]
!
-J
|
2]
|
iy
M
-
yn]
Ay

LT YL R D
Pl P R LN 1

§ A

v e s
R

The clgebra teacher said, I think negative numbers are - %

o :) -~ - ) —— . o . ; '\(),!
O ™ / / / Vi S~ L 7
2 15 3 4 .9 16 11 8 13 18

Aol
1
Yoeen
™
L,j
——
—
M"—-.
o
Tt
|
y
1
.
T
C"-—
I,
aon
i
@ @ Prantice-Hall, It
-L‘l“:;'

18 Pre-Algebra Haslcs Section A: Integers
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SKILL 9: Practice
Simplify. .
by A -‘i
1.9+2.3=_1~" - 2.8+4: (-2 =_¢ 5
3.7—24+8= 4. 20+2-24+3=_.X Co
Ty ’:f \'3
5.5:3+5.2=_~-2 6. 15-30+5=__1
= R
7.94+3-8-4= 20 8. ~4+6-7=_DD
—_ |
9.10-3.5=_"10 10. 12~ 3.2 +30 = &
11, =8 + 16 + (—4) = _ 1 12,10 ~18+ (-2) + 4 = -~ 0
—d - el
13. 17— 9.3 = "1L} ,14.1—!—3-2-4“‘7’}—5‘ —
) =S
16.8+3:4+10+5= .~ 16. 25+ 36 +2 = , 37
17.3-2 —16=_"10)_ 18.1—8+4+0=_~L
19. 3 + (~4) - 6 = A | 20, 6-8+2—10= "0 .
, ) ]" t'...f .
21, 2 +{-3)-(~1) = __| 22,12 +14+7=_1 7 -
] r}
23.19+-38-4-2.3=_1{ 24.20 224 +3=_N
Solve. :
|
25. The temperature was 78°F at 3 rm, Each hour for i
the next 4 hours, the temperature decreased by 3°F LOE T :
What was the temperature at 7 pm.? At
26. Max had a score of ~700 points in a video game. -
On each of the next 3 piays, he gained 400 points. Lg Y
Then what was his score? ' e
E; H
B
27, Simpiify: 8 -+ 16 + (—2). 28, Add: 23 + (9). g
Skiil 9 Skill 4
A 16 (G0 E 14 H 24 9
B 12 D —12 (G114 J 32 i

20 Pre-Algebra Basics Section B: Expressions and Equations
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% Mixed Review for Section €

To find out, complete each exercise. Write the letter for each answer on the

| When O’Oes

Q fOEiDﬂQ\ aumoer fike fo have a tiange & © friencrp

blank above the answer at the bottom of the page.

1

1.

—3.8 written as the
ratio of two integers

19

I 2

Standard form for (—1)8 _L_ | 4.

value of —4 + %Lé_,_ A 6.
Value of 1 + (-2 + 4)° ;3:))_ E &8
Length of the hypotenuse a 10.

of a right triangle whose
legs have lengths
12 cmand 16 cm

A0CH)

3
Solution of Bx = —6 & R 12.

L

S 13. Value of(—%)s T/AS

‘H 14,

G 15. Value of (—4 + g — 25 /CO

When the 7— K /

A N 6 L £

She 1oty e Lt b At

Solution of —3x = —18 ,,Q_

Value o —% . (—%) ZL

o
(—3) - (—3) in exponential form - (“ 3)

Solution of% = %1 ::3_

siaidnda d Il i

Length of the hypotenuse
of a right triangle whose @

legs have lengths
30 cm and 40 cm M

s

Value of ( __é’é_-

1_g1 1
Value of 4% — 5% - :

25
S
1

125

la [

48 Pre-Algebra Basics
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(-3 20cm 50cm 1 -3 E i
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Name NvEL Date Class

SKILL 10: Practice .

Write the phrase as an expressmn

1. 12 more than x !{ / 2. x less than 36 )? P '}?{-

3. 2 times 23 ,-;3 A 4. 17 times s o~ fT%
5. b multiplied by 5 Z’)q Dar 51) 8. y decreased by 10 L}f -/ C':’
7. B4 plus k (‘ ‘;/7 A P 8. u tripled oog G ""J'__';ft,’..:

9. p divided by 8 _ TETN g0 teminusx /57 X

& = £ )
11. 4 less than & K / _ 12. zincreased by 12 _— 7 /o~

Write an expression to answer each question.

= W ey
3. What is the product of 82 and g? o - J{"’/
L LA 7 -
14. What is the difference between nn and 77 £in S / / ?}
er A i - lf“ j "_‘
18. What is the quotient of 32 and x? I y - X 9
Wy
16. What Is the sum of h and 77 A
17. Garolyn makes t batches of 12 cookies. e e S
How many cookles did she make? & o fad
18. A Jar holds i ounces of jam. How many T
jars are needed for 100 ounces of jam? A e
19. Brian had p pencils. Then he bought 4 more. Sy
How many does he have now? [T
20. Tammy plants 6 rows of ¢ fomato plants each. S A L
How many tomato plants did she plant? L T M
E:
B
21. Which expression means 22, Simplify: 7-6 — 7 - 2. g
d less than 177 ' o Skill 8
Skilt 10 F 70 (H 28 @
Ad-17 Cd+17 G 38 J —i4 :
(B 17 -~ d D17 =+ d

22 Pre-Algebra Basics Saction B: Expressions and Equations
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SKILL 71: Practice

~ ‘valuate each algebraic expression for the given value of the variable.

i
12+ xforx=4 1% C 2. 20—kf0rk—9
. T
3. 24+ nforn=28 4, 6tiort=2 /
) o
Y —
5. 32 —mform=~3_2) 6. h+{(-10)forh=2 __%
— Y _ﬂ/’“}.
7. —3jforj=9 _&( fQP 8. p~+ (—8Bforp=35_/~
9. 26 +2xforx=7__tL L{(«' 10. 30 —~ 4y fory = 8 =

I .
/ e

12, =8mform = —11 =25

gl

11. 20+ 10forc =3 &

13. 6 — 3f for f= 6 _"‘/:,__} _ 14. 2p — 14 forp =13 Ny
~cif 2
15, =4 + 8ffort = —5 b 16, 100 +jforj=5 R L
57 A
17. 3k — 8k fork = 16 _ ¢~ - 18. —3m+ 158 ~mform =25 3
19. 64g +~8forg= -7 C‘ 20. 200 + k + 9 fork = 63 20/ @
1.2y +8fory = -3 22, 18 — 3mform = —1 _3/ *
23. forn = -3 '*‘!} 24. 9z + 2zforz = -2 Mt
Solve.
25. Marlk drives 65t miles in t hours. How far does - R
he drive in 2 hours? ;oL Al
26. Josefina spent 20 + 3b dollars on a pair of earrings 7
and three blouses that cost b dollars each. How much iF [ 5

did she spend in all if each blouse cost $157

:i;
27. Evaluate 9 + x forx = —3. 28. Doug bought a book for g
o Skill 11 d doilars and a poster for $8. B
A —27 . \G/B What expression represents o
B —12 D 12 how much he spent? @9
. Skilf 10 <]
! F/ 8 +d H 8d :
’ Gd-—-8 J 8+d
24 Pre-Algebra Basics Section B: Exprassions and Equations
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account balanc:e:

1L L .[\ T, LroRLes ef BTN
e _,
SEKELL 12: Practice
" Simplify each expression. y
1.7(3+5)=_-2£; 2. (16 +4)+5= T
= E
(2B + 8= D 4, (-3+89)+2=_-"
5. (6+4)2 +3) = 6. 30 5~T)=__ 1
~7 _ 2)
7. (12:3—-1)+5=_1 8.(—8-22)+10=__ -~
17 4
9. (—2+6)5-8=_"=~ 10, (13 —B)13 — 7) = _Z o~
e - ™y
. (B 18)7 —13) = T 12, 18 = (4 + B) =
*l —ia0
13.36 + (2 —8)= & 14. 608 — 12 +2) = AL
{1
—% ~L
15.48 + (2 8- 1) = = 16. (—9)(15 — 5) = 4D
c -
17.54—:(7—13)=;}_ 18.1+@B-9+8=_T0
19. (14 +10) = 2 — 6) = ___L__ 20. 4 -T2+ 0= _ ~J=
- =
(7-6+@-3-4=_"1 92, 9= (-2 —1)= ./
[ G —
23, 16— (5—8)= i | 24, (2-6—4)+ (4~ 8) = P
~ Solve. L
25. The high temperajriire on Monday was 78°F The high
temperature on Tuesday and Wednesday was 81°F, e
Evaluate (78 + 2 - 81) + 3 to find the average high ({}/ /,
temperature for the 3 days. LA
26. Harry made deposits of $55 and $35 in his bank
account. He wrote checks for $20 and $35. Evaluate 7/{ )
(85 + 35} — (20 -+ 35) to find the change in his bank WAL
D

Skift 12
HS

J 14

(E'~14
G -5

28. Evaluate 7m férm = —2,

Section B: Expressions and Equatlons

Skill 11
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Name gf:’.,'fe'-_-f'.g,‘.-i‘ Date Class
SKILL 13: Prazéice 3
Solve each equation. _
1.x+6=23,_714 2.x+9-—=15 3. x—3=

x=__0 x=_JC x= [0
.4, 2x = 1%! 5. ¢ = 91/:::‘ 6. (“4)’{_?,:‘?:0

% = n= 1.2 = T
7.m—10= -6 8.25=6 9. 10x = —70

= k=14 x=_"7
10. n — (—8) = 15 11, —4x = —80 12. Bp = —96
-7 x=_I5 o=

18—y = 8 4. x+(-6) =9 15. ~7k = —63

=8 = /5 k=_ 1
16. x + 23 = 87 17. x - 13 = 28 18. f5 =20

x=_17 - /s m= 780 ]
19, L= —12 20, 12y = —84 21. m + (~15) = 30 @

o= 7 y = '“r? m = 75
22, x — (—13) =2 23, §=-14 24. ~8x = ~168

x=_/1 nm”q'}\ x=_27_
Solve.

25. In a video game, Charles scored —250 points_on his second

play. This brought his total score to 500. What was his score
on the first play?

75 HAmals
/7

26. Each day for several days, the change in the price of a share
of stock was —$3. The total change in price during those

days was —$36. Over how many days did the price decline?

27. What is the solution of 4x = —287
Skill 13

28 Pre-Algebra Basics

F

G 41

28. Evaluate: —4(9 + 5).

, e
[ ‘;]\ AL D>
]

A 5

g

]

s

&

i

<

2]

Skill 12 @
H —41

; s

() ~58

Section B: Expressions and Equations




Name I e Date Class
=S

SKILL i4: Practice

P

‘o solve each equation, tell what you will do first to both sides.

o +T7=13 2 —3n—8=7 3. 2x — 9 =11
Sub. 7 Add ¥ AdA 7
4. —Bx + 6 =36 5, 10x + (=9) = 21 6. 4x — 13 =3

Sub b Yub. —9 Add 1>

7. —5m + 12 = -9 8. Bk — 11 =13 9, —6n — (-2) =

Sub > Add 1 Add *SL

Solve each equation. Check your solutions.

10, 3b + (—7) = —25 . S+ (-3)=8 12, 16 = 4h — 12

3. 5 — (~10) =3 14, 8w — 17 = —80 5. 2 —12=—4

x=_—4d w = ~9 c=9b
16. £+ 12 = 20 17. 5/ + (—16) = 76 18. & + (-8 = -8 .7'
a . ——

p_-—L(O j= ~[A k=

For each problem, write an equation. Then solve.

19. Linda had $15 In her cain bank, On her birthday, 5 relatives sent her
money as a birthday gift. Each relative sent the same amount. She
then had $115. How much money did Lmda recelve from each relative?

B (S +5¢= %5 720

20. Gorillas and chimpanzees can learn sign language to communicate
with humans. By 1982, a gorilla named Koko had learned 700 words.
This is 50 fewer than 5 times as many words as a chimpanzee named
Washoe knew 10 ysars earlier. How many words did Washoe know? -

S¥—=S0=706 ¥z /SD words

22, Salve:n + 15 = 22.

B AT

B O e

21. Solve: 4x — B8 = 32.
(a)10 C 6
B 8

D -6

‘30 Pre-Algebra Basics
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Class

Circle each correct answer.
1. Evaluate 30 —2k for k = —8.

. Skill 11
(A 148 c 20
L
B 40 D 14
2. Simplify: 6 — 21 + 3.
- Skit 9
F 45 (H)—1
G 1 J —45
3. Solve: —5m = 45.
Skill 13

A —40 9
@;—9 D 40

4. Write an expression to answer:
What is the sum of h and 737

. Skill 10
F 73h (H'h+73
G73-h . J h-73
5. Simplify: 60 + (2 + 4).
. Skilf 12
{A10 C 45
B 34 D 55
6. Solve: -’A—’ +10=7.
Skilt 14
F —68 H 12
P
‘G =12 J
{6, 68
7. Simplify: 2(8 — 2 - 4).
Sidll 12
A8 (C/0
B 48 D 56

-

Section B: Expressions and Equations

8.‘_,SD[VEZ x—5=-10. Siill 13
fF -5 H5
G -15 J 15
9. What are the coordinates of
point M?
‘ Skill 15
5t
M
X
~5 i 5
-5
A(-3,2 C (-2-9
B (-3, ~2 (D/(-23)
10. Simplify: (8 + 12} <= (—3 + 1).
Skilt 12
.F 10 H -5
G 5 - (J1-10

11. Write an expression to answer:
What is —19 decreased by y?

Skill 10
Ay-(-19 C —-19+y
{(Bi—18-y D y<(~19)
12. Solve: —4w + 6 = 486.
- Skill 14
F_—13 H 10
{@ 10 J 13

”
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__ % Mixed Review for Section B ' -

"One day, a camplicoted equation, struggling to - ‘ 11
find its solution, decided to visit a computer. The ;
computer operatad on the equation and found
the solution rather quickly. How did the computer
describe the took on the face of the equation
after it wos all over? or 5 5

JJJ

To find oui, answer each exercise. :
Write the circled code letter on the blank L 5 — )
above the answer at the bottom of the
page. Use the computer screen diagram
for Exercises 5 and 15.

1. Soiution of 2. Value of 6 + Bx

b~ 50 =101 forx = —2
5 @ ~7 _®
4. Value of 5. Drdered pair
7-(-9+8+3-4 for point M
=l e £ @
7. Expression for 8. Value of
43 less than n 412 +7 - 3)
=92 @ 2 @
10. Value of 11. Solution of .
5(3 - 8.— 30) =g
— -..-“) P !U
R OB &

13. Vaiue of
9—-2.8

14. Expression for
50 more than h

- !_!7 ® l‘? .;‘gl. Hi- ®

3. Solution of
Bk = —96

@

6. Value of%
forr =90

ELERNG
—_—

9. Solution of
10k + 12 =32

X @®

12. Solution of
11w + 6 = —38

L,/’ @

15. Letter formed by joining
(1,2}t (1, -2),
and (—1, —2)to {1, 2

— L ®

) ‘ I
n-43 (-3,-2) h+50 o ~30
-:.._‘ 9 -—\ .':':j! \_ o
L ~ ] : 15 £ 3 % / J /\
—12 144 . 3 -7 a0 151 -4 —51 X

K
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SKILL 15: Practice |

~ind the coordinates of each point.

3 Q_@, 4.1/@ LML - |

7
\f}:

U
5. Wl,_o_;i)_ 6. x (5, -4 B R ;
7y (:4,7) _a.z(ﬂ,ﬂ) TR }

Name the point that has the given coordinaies.

0. 12, —) 1D 0.0, £ o

' H

11. (=3, 2) D 2. 00 . O T ,
, A D

13. (-2, 0) ﬁ_ 14. (-1, —3) _—G ST 0 55

G
15. (5,3 6. -1y _C y J
_ 8 _

17, (-5,5 18. 4, -3) ) g )

Solve. ' .

19. A city with strests that run north/south and east/west
uses coordinates to identify locations of buildings. The 4
unit of length is 1 city block. How many blocks must 3
a taxi driver travel fo get from a bus siop at (2, 5)toa
house at (17, 25)? 35 bleeks

LT
—~

K
&1
20. What are the coordinates of 21. Solve: 6x + 5 = —13. g
a point in the coordinate plane Skill 14 ) g1
that is 2 units to the right of the F —18 H3 g ]
origin and 7 units down? - ] "ol

° Sk 1s | @ ° I8 E
A-2-7 ©@-7 .
B (-2, 7) D@7 o 4 a

32 Pre-Algebra Baslcs Section B: Expresslons and Equations
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SICELL 16: Practice

.

Write each rational number as a ratio of two integers.

«'.,Li
1. -33 4

. 3
4. -2l
iis

7. 0.55 _ A0

,
2. 1?‘

a2
2 -
5, —4—5

_ -4
8 -13_3

Use >, <, or = to compare the rational numbers.

0391
13. 31 &) 72 |
16. —5.5 (5) -5%
19. £ &) —123
2. -1 -03
25, g@ =

Solve.

2 3
1. -3 ~Z

12, —17 Q) —11
7. 50 -3

20. 0.7 () —0.9

17 17
23. 16 BET

.18 _14
26. 3 5

28. On Monday, the temperature went down to —15°F

at a weather station in Canada. On Tuesday, the
temperature dropped to —19.5°F Which day had

the lower temperature?

29, Last year, Lucills grew 1.25 inches
Which girl grew more?

30. Which number is greater

than —£7
B+ -t
B -2 D —1

36 Pre-Algebra Basics

Skiff 16

31.

Tuesiijl

g,
. Berta grew 1% inches.
. 3 f)eH\aL.,

Find -7 + 18.

Skitt 4
F —25 @11
G -11 ‘ J 25

Section C: Rational Numbers and Exponenis

(=

g;\.._!% © Prentlee-Hall, Inc.

SR

o
A0

e S P

[T P U A v e

it Lav
P RCT RS A ATy roors




TN IS

e

g L T

SKILL 57 Practice

-

~ Add or subtract. Write fractions in simplest form,

1. 8.3+ (—41)= 2.6~—902= 3. —7.69 — 14.8 =
: ) - 3 ¢ ;- - ;2;“(7/?
4 L
1.3+1-_ 8 5, -8 _7_ ) g 143 Y
i1 i1 8 ' 8 .
5 7 _ ~L 1,7 _ ,ié 3 3 5
7-“1“5—?5“—‘@—/ 8. —q5+3 = 9. “r(—%)ﬁ—mz
AL 2
1_g2_=[3 5,1 Q% 5 (ou)_ -7
10.85-95="125 ~ .43 -2l= 5 12. S+ (~7il) = 2/
Mulbltiply or divide.‘ Write fractions in simplesi form.
13. 9.16 - (—0.2) = 14, 7.03 - 0.04 = 15. —0.1 - (—=4.1) =
—~/[ 832, L7 R4
16, ~8.64 + 2 = 17. 90.5 = (—5) = 18, 6.4 + (—0.8) =
—H3 ~/8. 1 4
9 3
1 - - Cs i
19, £ - (—4) = A 20, % . (-3) = 21, -3 2= " ¥ ))
1 3 e -5
o9 15 + (-8 = /e 23, 3% 7= 24. —75+3=_7"7
5 2y
3 5) 3 . 7Y _ 4 -~
25 §-(-f)=Je oz -2:([)=35 ami9= 7
Solve. .
28. The area of Colombia is about 1;1—t'|mes the area :
of Venezela, which is about 352,000 square miles. - .
What js the area of Colombia? 44@/, 009 5} 217
29. Miguel bought some stock priced at 14% per share. L
Find the value of the stock after it went up 2%. / 7 §
..;’E_:'
8
31. Which rational number is greater E
Skill 17 than _%? 8
Siilf 18 .
16 9
F =2 H —33 @3
10 ) 2
G T J 5

38 Pra-Algebra Basics
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SKILL 18: Practice

Solve each equation. Check your solution.

: 5_ 6 L, _1_ 5 = 1
1'X+?_? _ 2.X“§—*§ 3. 6m = 3
+ L L
1 1 : n__ 1 _5__38
4, k + 4—2' 3_5 5.jz—-2 6. vy 8= "3
7. 8y =32 8. 10x = —7 9. m+9=—-11
— 5. 2
Y= 2&{ . — - /D m= —-—«20
1) _ a1 , 1) _ _1
10. ¢+ (1) = -1 11 j-(-42) = —10 12. 2¢=1
A i
P ""5 j= h/qj k= /b
13. x — 3.2 = —20.8 14, ~0.25x = 2 15, n = —10
X = H/7¢ X= _\g = ,..5;_/ .
4 8 _1 i_-21 A
16. —£m =6 17, gt = —3 18. y + 1y =7 )
19, -3 =% . 20. —0.01k = 0.8 21. -6t = 6.6
>
j= A3 k= 0 t= =/
Salve.
22, The price of a share of stock changed by —$19.20
over a 5-day period. What was the average daily 5 3, J;‘/

change In the price of a share of the stock?

23. Janice plans to save $22.50 each week until she has
enough money to buy a $180 bicycle. After how many '
weeks will shé.:_ have enough money for the bicycle? X Wﬂc‘ikj

@ © Prantice-Hall, Inc.

24. Solve 2x = ~B8.4. 25. Multiply: —3 ( )
: Skill 18 01 ’ Skilf 17
A —16.8 C 4.2 E/T H -1
1
—4.2 . D —42 G —-ﬁ- J g

40 Pre-Algebra Basics Section : Rational Numbers and Exponents
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SKILL 19: Practicé )

Write using exponents. L >
?,
1.3:-3-3:3:3-3 2.10-10-10-10+10-10-10 /

3 _s )Y
3. (-4 () -0l b 19 (8- (8 8 (5
5. g-gj__ 6. (—=1) + (1) - (~1) (~1)3 ]

Write in expanded form.
7. 1.9% /apci c /;7;:“?/; 7 8. (—0.6)° (’ O,Q)f(,b,é) "("ﬁ: év_)
9. 205 A0 .20:20-20-D.0 10. (a%)ﬁ | (‘ %)(’ %) 'C_%)

1,20 222 h QD 12, (-4 -(‘/)"(—9/}(“(7){-5’)

Write in standard Toim.

ia. 28 o4 a5t (25 15, 102 /00

16. 105 (00 1000 17. (—2)'5 ~3 18. (—3)* g1

19, 200 %, 000 20, (-1t 1 21, 208 £ 4, 300,000 i |
92 (0.02P _ 000008 23, 452 H 025 24, (0.1 000!

" Find each square root. ‘
05, \/144 _) 2~ 26, VBT __1 o7, VagT 17 ;
28, V68 /3 09, /225 /S 30, V756 1 b
Solve.

31. Suppose you toss a penny, a nickel, a dime, and a quarier
at the same time and record the heads and fails. There are - / é
2% ways the coins can land. Write this number in standard form.
32. Suppose you roll 3 dice of different colors and record -
what number you get for each color. There are 6 number g J 6
combinations possible. Write this number in standard form. L T g
2
4
B
33. What is (—2)* in standard form? 34, Solve:x + 2.5 =15. 3
Skill 19 ' Skit 18 e

A -8B CB8 F —4 H4
B —16 @ 16 @1 Js
42 Pre-Algebra Basics Section C: Rationa! Numbers and Exponents
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SKILL 20: Prac‘-’:ice_

Evaluaie each expression.

1. (4 +6p3= L000

3. 4468 = _ AL
5. 40+ 322 = D
7. (12—5)3=i_ﬁ

9. 2+3°7-7= 55)
11. 48%(—2)3— ﬁD
3. (1 +6)7° /9/9
LS

i5. (3 +32)—‘3—._...,_L__..._

2. (—8+5F=_ 1
4,1+ 5% = _/.0L

6. 16720 = 70U
8. (16—7)-28=_ 772
10. (16 — 7 - 2° =

12, 23+ 4% + 4 = é

14, 23 4 42 + 4 = _ ta?'_

6. 25-1=3/

Evaluate each expression. Use the given value far each variable.
17. 41 + mtform =3 _20

19, (x + A2 forx =8 /7Y

Solve.

b

-0
=_ &
.

18, (17 — K3 fork =12 _/AS__
20. (5 + 2mfforn=—-2_ {

21. A company plans to assign a 5-digit D number to each

emplo }ree. The first digit will never be 0. The expression
represents the number of possible ID numbers.
How many ID numbers are possible?

9-10

22. If you have two dice of different colors, there are 6% — 6

ways 1o roii two different numbers. In how many ways can

you roll two different numbers?

23. Evaiuate (1 + 3 - 2)%

A 13 @49

B 37 D 56

44 Pre-Algebra Basics

Skiff 20

24. What is the standard form
for (—2)3?

0, 000

1d

Skiil 18

& Prantloe-Hall, Ing.
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Name

eLs LIaom

_J
§E€HLE._2’E: Practice

Name the hypotenuse and legs of each right triangie.

1.
f
Il :
m

Hypotenuse: ﬁ

and M

Legs:',

2.

g

S

Hypotenuse: —_
Legs: [ and T

Find the missing length in each right triangle.

3. ,Z a7 cm
a

4, :
5cm G
35 cm _

12 om

5.
C
E jn.l‘\\

8in.
g = /010”7 c= /3@’)7 c= /O/*O
. B.
_ 24 om 28 yd

16 in.

b=_¥in_ b=

9. A courtyard that is 12 feet by
-16 feet has a diagonal walkway.
What is the length of the walkway?

10. What is the length of side b
of the right triangle?

"
1cm Eb

Skill 21

A em
A 1cm @Qcm
B 7cm D 11 cm

46 Pre-Algebra Basics
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BEETT
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1

11. Evaluate 4 + x2 forx = 8.
Skilt 20

F 60 68
G 20 J 144

Section C: Rational Numbers and Exponents
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/3 H/(/f'_

LIQLT

oo

=

Circle EBCh correct answer.

—

1. Flnd + (——) in simplest form.

1 Skilf 77
—5 C 1
.
B —1 D5
2. Evaluate (5 — 3x)? fof x = —5.

Skift 20
F —400 H 100

G —100 (3400
3. Whatis6-6-6-6-6in

exponential form?
Still 18

b

4. Find the missing length in the
right triangle.

12 cm
: EEa

C 5-6
D6-5

Skiit 21

13ocm -
1 ecm H 294 cm
OS cm J 25cm

5. Which number is less than —87

O 1 ’ Skifl 16
A ""'83; R ¥ '-GE-
B -7 D 7
10
6. Solve: 3x = -—%.
'_i ; Siill 18
F -5 H 3
1 2
G)-3 J 3

Section C: Rational Numbers and Exponents

W

7. What is 1002 in standard form?

Skill 18
A 200 @10,000
B 1,000 D 20,000
8. Find —% + 1 m simplest form.
5 Skill 17
F @—5
2 5
G 3 d
9. Solverm — &= -2
) 25 : /D_ 1 Skilt 18
A zg L/~ 15
i 55
B 15 D —2%

10, Evaluate 1 + (1 — x) forx = 2.
Skl 20

F -6 H 2

@0 J 8

\}A The temperature fell 12.5°F over

a 5-hour period. The temperature
change was the same for each
of these hours. What was the
temperature change each hour?

. Skilf 17
@—25 F C 2.5°F
B —25°F D 60°F
12, Find V49.
Skill 19
F 2,401 @7
G 98 J g
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% Mixed Review for Section ©

When dogg ool MO lke to hoyg ) tf@g\e 0s a friengy

To find out, complete each exercise. Write the Jetter for each answer on the
blank above the answer at the bottom of the page.

I 1. ~3.8 wiliten asthe __ 19 I 2. Solutlon of —3x = —~18 __Q___
ratio of two integars
i 1 v
L 3. Standard form for (—1)° _L | 4. Value of —7+ (__E) b
— (3
T 5 Valueof —4+5___ < A 6. (—3) - (—3)in exponential form =~ 1,
T 7. Value of 1 + (-2 + 4)5 ___j_f__?m E 8 Sollonoff==t _fj_“
N 8. Length of the hypotenuse G 10. Length of the hypotenuse
of a right triangle whose ’ of a right triangle whose ]
legs have lengths legs have lengths
12 cm and 16 cm M 30 cm and 40 cm ms:gg_m
| _ 3 | e
R 11. Solution of Bx = —6 ___i R 12. Value of (—-5 __a‘"’_é_:
S 13. Value of (-1 /a5 H 14. Valieofdg—55_ 7/
G 15. Value of (—4 + gp — 25 /00
s_i

:'E
j

When the T /*? /] A h G L £
25 B (-3 20cm 50cm 1 -3 ;

5

S AR 16 # T

T E -2 -3 w0 —6 @&
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